
数学Ⅱ・Ｂ　第 3 問

(1)　6 7na  は，初項が 1 ，公比が 
1

3
 の等比数列であるから　　 na =1･

-n 1

8 9
1

3
=

-n 1

8 9
1

3

　よって　　 nb = 2na =
-2n 1

8 9
1

3
=

1

3
･

2( )-n 1

8 9
1

3
=

1

3
･

-n 1

8 9
1

9

　ゆえに，6 7nb  は，初項が 
 

ア1

 
イ3

，公比が 
 

ウ1

 
エ9

 の等比数列である。

　したがって　　 nT =
=k 1

n

P kb =

1

3 > ?-1
n

8 9
1

9

-1
1

9

=
 

オ3

 
カ8 81 9-

 
キ1
n

 
ク9

　また　　 1b 2b …… nb =
1

3
･

3

8 9
1

3
･……･

-2n 1

8 9
1

3
=

+++1 3 …… ( )-2n 1

8 9
1

3

　　　　　　　　　　=
n. /+1 ( )-2n 1

2

8 9
1

3
=

2n

8 9
1

3
=

 
ケ1

2n
 

コ3

(2)　 nc =2n･ nb  より　　 +n 1c =20n 1+1 ･ +n 1b =20n 1+1 ･
1

9
nb =

1

9 02n･ nb 1+2 nb

　　　　　　　　　　　　　 =
1

9 0 nc 1+2 nb

　よって　　  
サ9 +n 1c - nc =  

シ2 nb 　　　0n 1=1，2，3，……

　ゆえに　　
=k 1

n

P 0 1-9 +k 1c kc =
=k 1

n

P 2 kb

　よって　　
=k 1

n

P 0 1-9 +k 1c kc =2 nT 　　……  ①

　また，この左辺の和をまとめ直すと

　　　
=k 1

n

P =0 1-9 +k 1c kc -9
=k 1

n

P +k 1c
=k 1

n

P kc =9
=k 2

+n 1

P kc -
=k 1

n

P kc

　　　　　　　　　  =98 =k 1

n

P kc + +n 1c 9- 1c -
=k 1

n

P kc =8
=k 1

n

P kc +9 +n 1c -9 1c

　　　　　　　　　  =  
ス8 nU +  

セ9 +n 1c -  
ソ9 1c 　　……  ②

　①，② より　　8 nU +9 +n 1c -9 1c =2 nT

　よって　　 nU =
1

8 02 nT -9 +n 1c 1+9 1c

　　　　　　　 =
1

8 >2･
3

8 81 9-
1
n9

-9･20n 1+1
-2( )+n 1 1

8 9
1

3
+9･2 ?･

1

3

　　　　　　　 =
1

8 >
3

4 81 9-
1
n9

-60n 1+1
1
n9 ?+6

　　　　　　　 =
 

タチ27

 
ツテ32

-
+ 

トナ24n  
ニヌ27

32
･

1

 
ネ n9


